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Membrane with input current
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Membrane with synaptic inputs
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Channel types

Gion = f(molecules_outside) ionotropic

                   Gion = f(molecules_inside) 
molecules_inside = g(molecules_outside) metabotropic

Gion = f(light_intensity) photoreceptor

Gion = f(mechanical_deflection) hair cell

Gion = f(membrane_voltage) voltage-gated

Passive

‘Active’*

*in the sense of providing gain, not in the sense of requiring active ATP transport



Anatomy of a 
synapse



Membrane with synaptic inputs
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Resistive network


